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Answer all the Questions
Section I: Read the following passage and then answer the questions that follow :

Alfred Bernhard Nobel, a Swedish inventor and philanthropist, bequeathed most of his vast fortune
to a trust that he designated as a fund from which annual prizes could be awarded to the individuals and
organizations that had achieved through invention or discovery that which would have the greatest benefit to
humanity in a particular year. He rewrote his will in 1895, thereby establishing, with the original amount of
nine million dollars, the Nobel Foundation as the legal owner and administering agent of the funds, and
instituting the prizes that are named after him. Statutes to govern the awarding of the prizes were written,
along with guidelines for operating procedures. Six years after Nobel's death, the first six prizes, worth about
forty thousand dollars each, were to be awarded.

Originally the six classifications for outstanding contributions designated in Nobel's will included
chemistry, physics, physiology or medicine, literature, international peace, and economics. Candidates for the
prizes must be nominated in writing by Februaryl of each year by a qualified and recognized authority in
each of the fields of competition. Recipients in physics, chemistry, and economics are selected by the Royal
Swedish Academy, whereas recipients in peace are chosen by the Norwegian Nobel Committee appointed by
Norway's parliament. With the King of Sweden officiating, the prizes are usually presented in Stockholm on
December 10, the anniversary of Nobel's death. The value, fame, and prestige of the Nobel Prizes have

continued to grow. Today the prize includes a medal, a diploma, and a cash award of about one million
dollars.

1. What does this passage mainly discuss?
A. Great contribution to mankind B. The Nobel Prizes

C. Alfred Bernhard Nobel D. Swedish philanthropy

2. Why were the prizes named for Alfred Bernhard Nobel?
A. He left money in his will to establish a fund for the prizes.

B. He won the first Nobel Prize for his work in philanthropy.
C. He is now living in Sweden.
D. He serves as chairman of the committee to choose the recipients of the prizes .

3. The word "bequeathed" in paragraph 1 is closest in meaning to

A. took B. withdrew C. received D. donated
4. The word "will" in paragraph 1 refers to

A. Nobel's wishes  B. alegal document C. a future intention D. a free choice
S. How often are the Nobel Prizes awarded?

A. five times a year B. twice a year C. once a year D. Once every two years
6. The word" outstanding' in paragraph 2 could best be replaced by

A. exceptional B. unusual C. established D. recent
7. A Nobel Prize would NOT be given to

A. an author who wrote a novel B. a doctor who discovered a vaccine

C. a composer who wrote a symphony D. a diplomat who negotiated a peace settlement
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8. The pronoun " He " in Paragraph 1 refers to
A. Alfred Bernhard Nobel  B. King of Sweden C. Nobel Foundation  D. Nobel Prizes

9. Candidates for the prizes must be nominated in writing by of each year by a qualified and
recognized authority in each of the fields of competition
A. January 1 B. March 1 C. April 1 D. February 1

10. The word " nominated " in paragraph 2 is closest in meaning to

A. designed B. excluded C. banished D. designated
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Section II: Choose the best answer:

11. Where did you go holiday last year?
A. for B.in C.to D. at
12. You should explain this matter the boss .
A. for B. to C. at D. on
13. He has been absent Monday.
A. about B.in C. since L. for
14. Tomorrow's a holiday, so we go to work.
A. has to B. don’t have C. have to D. haven’t to
15. My friend Samir to Russia last year.
A. went B. has gone C. goes D. has been
16. If you well in my exams, you to university.
A. will do; will go B. will do; go C. do; will go D. don’t do, will go
17. Why on earth isn't Fahd here yet? for him for over an hour!
A.T'm waiting B. I've been waiting  C. I've waited D. I waited
18. I've got a headache." "Maybe you to take an aspirin."
A. are B. ought to C. don’t D. should
19. Do you want the match tonight?
A. to watch B. watching C. watch D. to watched
20. When I was a child, I never about the future,
A. have worried B. was worrying C. used to worry D. will be worrying
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Section I1I: Select the one underlined word or phrase that is incorrect:
21. Pele scored more as 1280 goals during his career, gaining a reputation as the best soccer player of all time

A B C D
22. That car is almost the same like mine.
i A B € B
23. Most dictionaries have informations about pronunciation.
A B € D

24, There is not reason to worry about me.
AB . ¢ D
25. Science of genetic engineering is not very old.
A B C D
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Wish You All the Best
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Answer all the Questions

Section I: Read the following passage and then answer the questions that follow :

Alfred Bernhard Nobel, a Swedish inventor and philanthropist, bequeathed most of his vast fortune
to a trust that he designated as a fund from which annual prizes could be awarded to the individuals and
organizations that had achieved through invention or discovery that which would have the greatest benefit to
humanity in a particular year. He rewrote his will in 1895, thereby establishing, with the original amount of
nine million dollars, the Nobel Foundation as the legal owner and administering agent of the funds, and
instituting the prizes that are named after him. Statutes to govern the awarding of the prizes were written,
along with guidelines for operating procedures. Six years after Nobel's death, the first six prizes, worth about
forty thousand dollars each, were to be awarded.

Originally the six classifications for outstanding contributions designated in Nobel's will included
chemistry, physics, physiology or medicine, literature, international peace, and economics. Candidates for the
prizes must be nominated in writing by Februaryl of each year by a qualified and recognized authority in
each of the fields of competition. Recipients in physics, chemistry, and economics are selected by the Royal
Swedish Academy. whereas recipients in peace are chosen by the Norwegian Nobel Committee appointed by
Norway's parliament. With the King of Sweden officiating, the prizes are usually presented in Stockholm on
December 10, the anniversary of Nobel's death. The value, fame, and prestige of the Nobel Prizes have

continued to grow. Today the prize includes a medal, a diploma, and a cash award of about one million
dollars.

1. The word "bequeathed" in paragraph 1 is closest in meaning to

A. took B. withdrew C. received D. donated
2. The word "will" in paragraph 1 refers to

A. Nobel's wishes  B. alegal document C. a future intention  D. a free choice
3. How often are the Nobel Prizes awarded?

A. five times a year B. twice a year C. once a year D. Once every two years
4. What does this passage mainly discuss?

A. Great contribution to mankind B. The Nobel Prizes

C. Alfred Bernhard Nobel D. Swedish philanthropy

S. The pronoun " He " in Paragraph 1 refers to

A. Alfred Bernhard Nobel B. King of Sweden C. Nobel Foundation = D. Nobel Prizes
6. The word" outstanding'' in paragraph 2 could best be replaced by

A. exceptional B. unusual C. established D. recent
7. The word " nominated " in paragraph 3 is closest in meaning to
A. designed B. excluded C. banished D. designated

8. Why were the prizes named for Alfred Bernhard Nobel?
A. He left money in his will to establish a fund for the prizes.

B. He won the first Nobel Prize for his work in philanthropy.
C. He is now living in Sweden.

D. He serves as chairman of the committee to choose the recipients of the prizes .
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9. A Nobel Prize would NOT be given to
A. an author who wrote a novel B. a doctor who discovered a vaccine
C. a composer who wrote a symphony  D. a diplomat who negotiated a peace settlement

10. Candidates for the prizes must be nominated in writing by of each year by a qualified and
recognized authority in each of the fields of competition
A. January 1 B. March 1 C. April 1 D. February 1
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Section II: Select the one underlined word or phrase that is incorrect:

11. Pelé scored more as 1280 goals during his career, gaining a reputation as the best soccer player of all time
A B C D
12. That car is almost the same like mine.
A B [E b
13. Most dictionaries have informations about pronunciation.
' A B c D
14. There is not reason to worry about me.
AR, D
15. Science of genetic engineering is not very old.
A B 3 D
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Section III: Choose the best answer:

16. Where did you go holiday last year?
A. for B.in C.to D.at
17. You should explain this matter the boss .
A. for B.to C. at D. on
18. He has been absent Monday.
A. about B.in C. since D. for
19. Tomorrow's a holiday, so we go to work.
A.hasto B. don’t have C. have to D. haven’t to
20. My friend Samir to Russia last year.
A. went B. has gone o+ Cpoes D. has been
21. If you well in my exams, you to university.
A. will do; will go B. will do; go C. do; will go D. don’t do, will go
22. Why on earth isn't Fahd here yet? for him for over an hour!
A. I'm waiting B. I've been waiting C. I've waited D. I waited
23. I've got a headache." ""Maybe you to take an aspirin."
A, are B. ought to C.don’t D. should
24. Do you want the match tonight?
A. towatch B. watching C. watch D. to watched
25. When 1 was a child, I never about the future.
A. have worried B. was worrying C. used to worry D. will be worrying
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Wish You All the Best
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